S3I¥3S ISIA NOISIDIAd
143 B O & % 8%

S3I¥3S WILSAS TOOLDOND

1638 TSR

S31¥3S 1371100

4 ¥ % %

SIS HILINID

4 3% % Ml

]

>
i)
™
il
%]
0
@]
)
=
wn

H

0 ®
A
ZEGYO

167\ @D

B ZY-60001 PBZRFIIEITER  PRECISION PARALLEL BLOCK

PB150:

BE Model FAE (LxWxH)

150x10xH
PB150-1 14x2
(H:14,16,18,20,22,24,26,28,30,32,35,40,45,50)
150x8xH
PB150-2 14%2
(H:14,16,18,20,22,24,26,28,30,32,35,40,45,50)
80x4xH
PB150-3 14x2
(H:14,16,18,20,22,24,26,28,30,32,35,40,45,50)
200x10xH
PB150-4 14x2
(H:14,16,18,20,22,24,26,28,30,32,35,40,45,50)

PB151:
AE Model FAE (LxWxH)

100x4xH
PB151-1

9x2

(H:10,14,18,22,26,30,34,38,42)
160x4xH
PB151-2 9x2
(H:10,14,18,22,26,30,34,38,42)
150X8.5XH
PB151-3 9x2
(H:14,16,20,24,30,32,36,40,44)
150x10xH
PB151-4 9x2

(H:14,16,20,24,30,32,36,40,44)

PB153:

=\ oYo[=1}

FAE (LxwxH)

125x8xH(H:11,16,21,26,31,36)

125x10xH(H:13,18,23,28,33,38)
PB153-1

PB153-2

150x12xH(H:15,20,25,30,35,40)
150x14xH(H:17,22,27,32,37,42)

24x2
125x12xH(H:15,20,25,30,35,40)
125x14xH(H:17,22,27,32,37,42)
150x8xH(H:11,16,21,26,31,36)
150x10xH(H:13,18,23,28,33,38)

24x2

R

PB154:

I (LXWxH) 1

=
# = Model (Pes)

150x8xH
PB154-1 (H:16,18,20,22,24,26,28,30,32,34,36,38,40, 18x2
42,44,46,48,50)

150x8xH
PB154-2 (H:1719,21,23,25,27,29,31,33,35,37,39,41, 18x2
43,45,47,49,51)

PB155:

I (LXWxH) 1

)=
# = Model (Pes)

120x10xH
PB155-1 12x2
(H:14,16,18,20,22,24,26,28,30,32,35,40)
150x10xH
PB155-2 12x2
(H:14,16,18,20,22,24,26,28,30,32,35,40)

PB156:

& (LXWxH) 1

=
# = Model (Pes)

PB156-1 120x8xH(12,17,22,25,28,32,36,38)
PB156-2 160x8xH(12,17,22,25,28,32,36,38) 8x2
PB156-3 200x8xH(17,22,26,28,32,36,38,42) 8x2

PB161:

85 Model

FAE (LxWxH)
100x5%16,100x6x18,100x8x24,
100x10x30,150x12x36,
150x14x48,150x18x60,
150%x22x62,200x31x15

Features:

o0 ®

A

ZEGYO

@& /168

orrRitEiRE, AEamEN, ERAE
OfE: HRC55-62

OfE: 0.01mm

OF4TE: 0.005mm

©The product has stable performance, high wear resistance, and is easy to
use

©Hardness: HRC55-62
©Accuracy: 0.01mm
©Parallelism: 0.005mm

CLAMPING SET

TREBRS (AF)

BeRS (AF)

T-slot Size(mm) Stud Size(mm)
©.7/ M8x1.25
11.7 M10x1.5
13.7 M10x1.5
13.7 M12x1.75
15.7 M12x1.75
15.7 M14x2
17.7 M14x2
17.7 M16x2

S8R ABERRE: 19.7 M16x2

06 TR IR TRBERS (E4) 2R (EH)
06F L2 1BE T-slot Size(US) Stud Size(US)
04X EZIZE 3/8 5/16-18

O R RER 7/16 3/8-16

O12 M HEL

1/2 3/8-16
9/16 3/8-16
Each set of 58 machine tool fixtures includes: 9/16 1/2-13
5/8 1/2-13

O24IRWimigte, KEA3" . 4" 5", 6", 7", 8" 4R

©6 T-slot nuts

©6 flange nuts 11/16 1/2-13
©4 connecting nut 11/16 5/8-11
©6 step pressure plates 3/4 5/8-11
©12 step washers 13/16 /811

©24 double-ended bolts, 4 each in length of 3", 4”,5",6",7",8"

B ZY-60003 SHEZTT  HYDRAULIC SOFT CLAWS i
L6, L7 L8

L2

L8 (mm) M TR TIEE

& Model L1 (mm) L2 (mm) L3 (mm) PN D
JSRO5
JSR0O6
JSR0O8
JSR10
JSR12
JSR12-1
JSR15
JSR15-1

L6 (mm) L7 (mm)

L4 (mm) L5 (mm)

v|lo|luv|lu|iw | wv|u|lwu




BB e

® o0 ® Eﬁgmgmﬁ)ﬁ N g
1 69\ ZE@, Scan the code to watch videos [21%% = Scan the code to watch videos zs@, / 170

B ZY-60004 FtEH L3103  ELECTRONIC EDGE FINDER B ZY-60007 DIN317 3FEIHEELX  MORSE SHANK PULLER

s : )
- 3 1095
£ i 158
D 1
% -}:I im*% Model L (mm) H (mm)
<0 —
" HE DIN317/0 MTO
ﬁ‘\'tﬂ P DIN317/1-2 MT1 MT2 140 20
&L 5. .
g e Features 3 orov: - T
OERMEEEMFHIE, BXEBEBEH ©Made of high-quality alloy steel and precision ground after quenching DIN317/4 MT4 225 30
ORI AN RN Ollluminate display upon contact L DIN317/5-6 MT5 MT6 265 35

O IEHEH. i, EHASE

©Accurate and fast alignment, easy to use

OE4/E0.01mm ©Coaxiality 0.01mm
[m)
2o
0
g
E ‘}N{ = E \jJ =]
o] B ZY-60005 #l#S 1188 MACHINEAL EDGE FINDER
2 —
B ZY-60008 DIN318 ¥ HEmhEEEL  SEMI-AUTOMATIC MORSE SHANK PULLER
CE-420 - CE-1020 <
S
SR ] S il sl
g M WJ 82 7%
R 91 935
25 “ ##& Model 21 (Overall Length)
" DIN318/1-3 MT1 MT2 MT3 317
DIN318/4-6 MT4 MT5 MT6 380
LS Features:
OERMEEEMFHIE, BXEBEEEH ©Made of high-quality alloy steel and precision ground after quenching B <5
OFTEIE. FEiKIEENM ©Used for alignment and positioning of curved surfaces and planes . ZY-60009 5C;E‘ 5C FIXTURE
OKIEEH, IE, FRHAE ©Accurate and fast alignment, easy to use
- O[E)#HE0.005mm © Coaxiality 0.005mm
o >
= )
el
2 M il .
5
= O] o
\ -
B ZY-60006 555%  cLeaner — =
L
& Model 3911-125-5C
& = EFL (Round) 1-28mm 3/64" -11/8"
E E#55E/E (Clamping rang) Mm7A# (Square) 3-19mm 1/8" -3/4"
2. ABL (Hex) 3-22mm 1/8" -7/8"
Lk D (mm) 126
F 5 Model *{gﬁzﬁﬁ)ﬂi DO (mm) 95
RIICIS L (mm) 107
)= HLERE
30 BS Model (Spindle)
40 HSK63
20 iSO H5K100 Fm Features:

O55CkLES, TIRFARERNTIASITH
ORER, BIEHE, XiFFEE
OTUREKSER, ERRHEERREL

© Combined with 5C chuck, it can clamp tools or workpieces of different
diameters

©High precision, easy operation, firm clamping

©Can be installed on lathes, grinders and other special equipment



H g x|
JLE]
°| see FARB I E ML s FARB I E ML 2o e
N oy N
171 \ mm Scan the code to watch videos [El%4 5% scanthe code to watch videos ZEG& / 172
N — [—TRY
B ZY-60010 $§{JJBE BT/DIN LOCKING DEVICE B ZY-60012 K11&F=/NBEIL KL K11 THREE-JAW SELF-CENTERING CHUCK
L
#14& Model L(mm) Ww(mm) Hmm) B L
o = eight(Kg) H1
z E‘g YED) 205 98.5 128 37
(@] 7
2 BT40 205 98.5 128 3.8 h
=) BT50 275 150 198 11.4
w
Q% DIN69871 30 205 9.5 128 37 ’
22 7 —
o g A A DIN69871 40 205 98.5 128 3.8 A S 5 8
DIN69871 50 275 150 198 1.4 5
© © CAT40 205 98.5 128 3.8
CAT50 275 150 198 11.4 ﬂ
==
. e/ | H2 |
Sie BR: Features:
v H ) #4& Model D1(mm) D2(mm) D3 (mm) H(mm) H1(mm) H2(mm) h(mm) z-d(mm) BREAHE RREE
4 \m O RATFHII 47T BIRK © Used for locking and disassembling machine tool accessories e )
2 ‘I\'N oMEEE, TR BAHPRSTER ©Easy to operate, can be used in both vertical and horizontal positions 80 55 66 16 66 50 - 3.5 3-M6 40 4000
2 &y OXHRAEAER TR © Can be used without adjusting the angle 100 72 84 22 74.5 55 = 3.5 3-M8 60 3500
G 125 95 108 30 84 58 - 4 3-M8 100 3000
130 100 115 30 86 60 - 3.5 3-M8 100 3000
160 130 142 40 95 65 - 5 3-M8 160 2500
. ZY-60011 HSK%ﬁ'IJ] @ HSK LOCKING DEVICE 160A 130 142 40 109 65 71 5 3-M8 160 2500
200 165 180 65 109 75 - 5 3-M10 250 2000
A >H_ 200C 165 180 65 122 75 78 5 3-M10 250 2000
E )I/_, 200A 165 180 65 122 75 80 5 3-M10 250 2000
5% 240 195 215 70 120 80 - 8 3-M12 320 1600
E:m 240C 195 215 70 130 80 84 8 3-M12 320 1600
= 250 206 226 80 120 80 - 5 3-M12 320 1600
250C 206 226 80 130 80 84 5 3-M12 320 1600
250A 206 226 80 136 80 86 5 3-M12 320 1600
315 260 226 100 147 90 - 6 3-M12 400 1200
315A 260 285 100 153 90 95 6 3-M16 400 1200
320 270 285 100 152.5 95 - 11 3-M16 400 1200
Q/Li 320C 270 290 100 153.5 95 101.5 11 3-M16 400 1200
=
ﬁ >'|'} 325 272 290 100 153.5 96 - 12 3-M16 400 1200
ﬁ‘)‘tﬂ 325C 272 296 100 154.5 96 102.5 12 3-M16 400 1200
m\‘g 325A 272 296 100 169.5 96 105.5 12 3-M16 400 1200
380 325 296 135 155.7 98 - 6 3-M16 500 1000
380C 325 350 135 156.5 98 104.5 6 3-M16 500 1000
#14& Model 380A 325 350 135 171.5 98 107.5 6 3-M16 500 1000
HSK-32 400D 340 350 130 172 100 108 6 3-M16 500 1000
HSK-40 500D 440 368 210 202 115 126 6 3-M16 630 800
HSK-50 500A 440 465 210 202 115 126 6 3-M16 630 800
Py}
Ao HSK-63
. HSK-100
-
O +F HG BT30 . . .
e EEREEERR: Short cylinder connection form:
OKTERBRFEARMN (ETMRMTE—E) ©K11 chuck with integral claws (one set of positive claws and one set of
OK1TA, K11CHIKT11D, KNMERRZRMARETHR, tTAEAR negative claws)
1EME & TER ©The K11A, K11C, K11D, and K11E chuck jaws are in the form of separate
OK1TAFIK1I1D, K1MEER-KEZ-RMFAFEIS03442tRE jaws that can be adjusted for use as positive or negative jaws
OKINCERBRMARREEH BT ©K11A, K11D, and K11E chuck jaws comply with 1503442 standard
O TWREE AN E/MN ©The K11C chuck claw is a traditional separation claw structure
ORAFPER, TREATFIRITREFNFE © Can provide various forms of soft claws

©According to user needs, we can provide a front screw installation
method for the chuck



o) a2o PEMEIIR F4l 3 I E A -
173\ ZEG& Scan the code to watch videos E-E{ [=]: - Scanthecodetoxatchvideos ZE@, @ / 174

RIGHT ANGLE SHOULDER SHELL MILLING CUTTER

B ZY-60013 K1I2MBEICFE K12 FOURJAW SELF-CENTERING CHUCK

H
H1 d
W
- h
3 i H
& Y
oK
il =
EE ~ | =|m el 1
wk o A |9a [~ |
5N A N
7
D
2.6~/
s
St i Model RY (size TR B R
= |_'{ #1& Model D1(mm) D2(mm) D3(mm) H(mm) H1(mm) h(mm) Z-d(mm) D (mm) d (mm) H ( mm) W ( mm) T (mm) a (mm) (Insert) (Screw) (wrench)
) yil BAP300R-40-16-4T 40 16 40 8.4 6.3 9 APMTIT35PDER | M2.5%6 T8
m /
=3 80 55 66 16 66 50 3.5 4-Mé BAP300R-50-22-4T 50 22 50 10.4 6.3 9 APMTIT35PDER | M2.5*6 T8
%\g 100 72 84 22 73 53.5 3.5 3-M8 BAP300R-63-22-5T 63 22 50 10.4 6.3 9 APMTI135PDER M2.5%6 T8
125 P o S0 ” = P - BAP400R-50-22-4T 50 22 50 10.4 6.3 14 APMT1604PDER | M4.0*9 T15
BAP400R-50-25.4-4T 50 25.4 50 10 6 14 APMT1604PDER | M4.0*9 T15
T [ e = = = i i BAP40OR-63-22-4T 63 2 50 104 63 14| APMT1604PDER | M4.0%0 5
160 130 142 40 95 65 5 3-m8 BAP400R-63-22-5T 63 22 50 10.4 6.3 14 APMT1604PDER | M4.0%9 15
160A 130 142 40 109 65 5 3-M8 BAP400R-63-25.4-4T 63 25.4 50 10 6 14 APMT1604PDER | M4.0*9 T15
g h 165 130 145 20 %.5 6.5 05 M8 BAP400R-80-25.4-4T 80 25.4 50 10 6 14 APMT1604PDER | M4.0*9 T15
=N -80-27- 80 27 50 12.4 7 o
o _— . - = o - " P BAP400R-80-27-5TR t& 14 APMT1604PDER | M4.0*9 T15
B BAP400R-80-27-5T 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
] 200 169 158 & 0 " ? SHe BAP400R-80-27-6T 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
200C 165 180 65 122 75 5 3-M10 BAP400R-80-27-6T 80 27 50 12.4 7 14 APMT1604PDER | M4.0*9 T15
200A 165 180 65 122 75 5 3-M10 BAP400R-100-32-6T 100 32 50 14.4 8 14 APMT1604PDER | M4.0*9 T15
240 105 15 20 120 0 s o BAP400R-100-31.75-6T 100 31.75 50 13 8 14 APMT1604PDER | M4.0*9 T15
- = poos = p— - - T BAP400R-125-40-6T 125 40 63 16.4 9 14 APMT1604PDER | M4.0*9 T15
. BAP400R-125-38.1-7T 125 3811 63 16.4 10 14 APMT1604PDER | M4.0*9 T15
. 250¢ <00 g - 180 @ 2 2eile BAP400R-160-40-8T 160 40 63 16.4 9 14 | APMT1604PDER | M4.0%9 T15
8 H 250A 206 226 80 136 80 5 3-M12 BAP400R-200-60-10T 200 60 63 25.7 14 14 APMT1604PDER | M4.0*9 T15
=R
E.\i& 325(325C) 272 206 100 153.5(154.5) 9% 12 3-M16 BAP400R-250-60-12T 250 60 63 25.7 14 14 APMT1604PDER M4.0*9 T15
o 7
ﬁ = EPLYAN 272 296 100 169.5 96 12 3-M16
380(380C) 325 350 135 155.5 (156.5) 98 6 3-M16
380A 325 350 135 171.5 98 6 3-M16
500A 440 465 210 202 115 6 6-M16

]

>
N
o}
@
n
0
o
=)
=
n

H




SBMEN &

o0 ® 0o ®
@, Scan the code to watch videos

A

ZEGYO

175\ @D @& /176

B ZY-60015 FFEJ]E  SHELL MILLING CUTTER

ROUND NOSE SHELL-SHAPED MILLING CUTTER DISC

d

W
[ I 7=

o

S3I¥3S ISIA NOISIDIAd
143 B O & % 8%

{ D
D1
ot
(@)
S o % R (size) T ) RF .

R #H& Model _ _ _ " R (size) A FEAR 1247 RF
E H = D (mm) D1 (mm) d (mm) H (mm) W (mm) T (mm) (Insert) (Screw) (Wrench) #AE Model D(mm) d(mm) H(mm) W(mm) T(mm) a(mm) (Insert) (Clamp) (Screw) (Wrench)
A KM12-50-22-4T 50 64 22 50 10.4 63 T —— " - o o . .
=M I 50 64 22 50 104 63 EMR-5R-40-22-4T 40 22 2 | 104 | 63 5
23 KM12-50-25.4-4T 50 64 25.4 50 10 6 FiEREEa - P = v P .

: SESSossessal 63 77 22 50 104 63 EMR-5R-53-22-4T 63 22 50 | 104 | 63 5
K20 ees ] & @ 24 - L 8 EMR-5R-63-22-5T 63 22 50 | 104 | 63 5
MNP el a0 . el o0 124 U EMR-5R-63-25.4-4T 63 | 254 | 50 10 6 5
KM12-80-27-5TR 15§ 80 94 27 50 12.4 7 EMR-5R-80-27-5T pe T p o0 = - A40100)
A35100F T15F
et ] 100 14 . 2t 144 : EMR-5R-80-27-6T 80 27 50 | 124 7 s | rewmioozmo | ase | o .
o KM12-100-31.75-5T 100 14 3175 50 13 8 serooe | s . EIRCER e e T o 351 | =0 - p . \
o ¥ e PLA ol 2 = 40 & L 2 EMR-5R-100-32-6T 100 32 50 | 144 7 5 Mo
P KM12-125-38.1-6T 125 139 38.1 63 16.2 10 EMR-5R-100-31.75-6T 100 3775 63 13 s 5
| KM12-160-40-7T 160 174 40 63 16.4 9 EMR-5R-125-40-6T 125 e P e P P
KM12-160-38.1-7T 160 175 381 63 16.2 10 TR e T ea 5 .
KM12-200-60-10T 200 214 60 63 257 14 BT E T 00 P P P ” .
KM12-200-38.1-10T 200 214 381 63 16.2 10 T eI TTeE TR T e :
KM12-250-60-12T 250 264 60 63 257 14
KM12-300-60-14T 300 314 60 63 257 14
KM12-315-60-14T 315 329 60 63 257 14
o
Z '\
G >
N




0 ®
VN
ZEGYO

177\ @D

B ME W

Scan the code to watch videos

B ZY-60017 HSKR &

HSK COOLANT PIPE

HIEME W

Scan the code to watch videos

0 ®

A

ZEGYO

E&D /178

B ZY-60019 BN T4

ACCESSORY OF COMBI SHELL END MILL ARBORS

. 3 <j}‘( L] #& 3K (Drive Ring) #RF (Wrench) (Apﬁfb{gﬁ%%dia)
@E@f _ o o RING-13 WRENCH-13 13mm
g-}él RING-16 WRENCH-16 16mm
<0 4 RING-22 WRENCH-22 22mm
gfﬁ L1 RING-1" (inch) WRENCH-1" (inch) 1” (inch)
B RING-27 WRENCH-27 27mm
L RING-32 WRENCH-32 32mm
RING-40 WRENCH-40 40mm
RING-50 WRENCH-50 50mm
2 o BEEARNFE T E FY2%] (Screw for COMBI SHELL END MILL ARBORS)
g [y #4& Model L (mm) L1 (mm) D (mm) T (Thread) = —
glﬁ‘n > - : S0 1 o 4 Model BEHAE (Thread Model)  BERAHEE
gfm 29.5 75 8 M12*1.0P Sb-Meé M6 13mm
X 33 9.5 10 M16*1.0P SD-M8 M8 16mm
v 36.5 11.5 12 M18*1.0P Sb-M10 M10 22mm
44 15.5 16 M24*1.5P SD-M12 M12 27mm
SD-M16 M16 32mm
SD-M20 M20 40mm
SD-M24 M24 50mm
5 S SD-M30 M30 60mm
=\l
% i; . ZY_6OO-I 8 HSK W )/&\j:&qz HSK COOLANT PIPE WRENCH iﬁs@f%ﬁ)\ﬁ%ﬂﬂ:gﬁﬁglzﬁlﬁzik(mlven Key for COMBI Shell Mill Holders for Assembling Disk Cutters)
0\
[an)
L H
_ _.% ......... L ' !
oS
%; #4& Model L(mm) B(mm) H(mm)
%\)N 16 20 4 4
] L 22 25 6 6
27 25 7 7
32 28 8 7
40 32 10 8
50 36 12 8

%}lﬂ.:*% M o d e l iﬁ%‘é’}ﬁ)\ﬁ%ﬁ%)}ﬁiﬁﬂ]ﬂu%ﬁ%ﬂ ﬁ%}fﬁ ﬁik(smb spacer rings in accordance with DIN 2084-B standard)

A E

TR 22x34x2 32x47x1 40%55x10
150 22 22%34%5 32x47%2 40x55x20
k ¢ & 22x34x6 32x47x4 40x55x30
22x34x20 32x47x5 50x69x1
27x41x2 32x47x20 50x69x3
27x41x4 32x47x30 50x69%5
27x41x6 40x55x2 50x69%20
a 27x41x8 40x55x4 50x69x30

27x41x10 40X55x5

27x41x20 40x55x6




	配件-完_1-01
	配件-完_1-02
	配件-完_1-03
	配件-完_1-04
	配件-完_1-05
	配件-完_1-06

